
4002 DW Double Pedal Primary

SP2037

SP2037

SP711

SM020

SP021

SP082

SP1206

SP704

SM101

SP711

SP711

SM020

SP021

SP082

SP010

SP092

SP010

SP092

SP711

SP711

SP711
SP711

SP711

SM101

SP213

SP214

SP074

SP074

PDAC211

Part Number  Description
   
DWSP010    3/4" OD PRECISION BEARING
DWSM020    SPRING W/FELT INSERT
DWSP021    10-32 X 1.95 SPRING SCREW
DWSP074    DRUM KEY SCREW 1/4-20 X 9/16" W/ COLLAR
DWSP082    10-32 KNURLED STEP NUT 
DWSP092    3/4" BUSHING 
DWSM101    TWO WAY BEATER
PDAC211    LINKAGE COMPLETE
DWSP213    7/8" OD PRECISION BEARING
DWSP214    7/8" OUTER BUSHING
DWSP704    SCREW, U-CLIP, NUT 
DWSP711    SET SCREW
DWSP1206    CHAIN CLIP AND PIN
DWSP2037    COMPLETE SPRING/ROCKER ASS'Y 

    

 
     

4002 DW Double Pedal Primary

Page 1 of  2

Page 2 of  2



4002 DW Double Pedal Primary

SP2037

SP2037

SP711

SM020

SP021

SP082

SP1206

SP704

SM101

SP711

SP711

SM020

SP021

SP082

SP010

SP092

SP010

SP092

SP711

SP711

SP711
SP711

SP711

SM101

SP213

SP214

SP074

SP074

PDAC211

Part Number  Description
   
DWSP010    3/4" OD PRECISION BEARING
DWSM020    SPRING W/FELT INSERT
DWSP021    10-32 X 1.95 SPRING SCREW
DWSP074    DRUM KEY SCREW 1/4-20 X 9/16" W/ COLLAR
DWSP082    10-32 KNURLED STEP NUT 
DWSP092    3/4" BUSHING 
DWSM101    TWO WAY BEATER
PDAC211    LINKAGE COMPLETE
DWSP213    7/8" OD PRECISION BEARING
DWSP214    7/8" OUTER BUSHING
DWSP704    SCREW, U-CLIP, NUT 
DWSP711    SET SCREW
DWSP1206    CHAIN CLIP AND PIN
DWSP2037    COMPLETE SPRING/ROCKER ASS'Y 

    

 
     

4002 DW Double Pedal Primary

Page 1 of  2

Page 2 of  2


